
202402 - CT 48 E HEPA 120V FL

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=allImagesAndPartlist...

1 of 4 12/3/2020, 6:19 PM



Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=allImagesAndPartlist...

2 of 4 12/3/2020, 6:19 PM



Pos Part No. Description Quantity Price each
Excl VAT

Price
incl VAT

Currency

1 452450 Raised-head screw 3,5 x 14 mm 4 $1.25 USD

2 704570 Socket USA 1 $36.62 USD

3 499491 Cable harness 1 $7.90 USD

4 476004 Cheese head screw 2 $1.23 USD

5 496234 Cover 1 $16.34 USD

7 496249 Rotary knob CT/CTL/CTM/CTH 2 $13.86 USD

9 496247 Rotary knob auto/man/off 1 $12.79 USD

10 452051 O-ring 1 $0.91 USD

11 452452 Flat head screw M4 x 8 2 $0.91 USD

12 496297 Screen CTL 1 $18.97 USD

13 201792 Conversion kit CT 26/36 1 $33.63 USD

14 200599 Board segment 3 $2.10 USD

15 200628 Cable harness 1 $4.96 USD

16 202317 Electronic  120V 1 $116.55 USD

17 496236 Clamp 1 $14.34 USD

18 204040 Hood 1 $35.72 USD

19 474911 Cheese head screw 5 $1.36 USD

20 452447 Raised-head screw 5,0 x 30 mm 20 $0.91 USD

21 477819 Protective grating USA 1 $4.65 USD

22 496238 Housing insert 1 $36.34 USD

23 496244 Grip 1 $13.93 USD

24 496243 Housing 1 $41.97 USD

25 203722 Cable holder 1 $12.47 USD

26 476795 Raised-head screw 2 $1.22 USD

27 200857 Cable with plug 1 $64.99 USD

28 200590 Inlet bush 1 $4.33 USD

29 200586 Cable clamp 1 $0.91 USD

30 496250 Suction hood 1 $39.45 USD

31 496252 Cable harness CT/CTL 1 $17.64 USD

32 496773 Flexible lead pack AUS / USA 1 $17.64 USD

33 467456 Raised-head screw 6 $1.02 USD

34 201007 Container seal 1 $20.67 USD

35 496255 Filter holder 1 $22.68 USD

36 201875 Filter housing 1 $132.64 USD

37 201975 Cover 1 $37.98 USD

38 496258 Noise insulation 1 $36.04 USD

39 200584 Cable bushing 1 $8.31 USD

40 200822 Cable harness 1 $30.03 USD

41 496262 Clamp 2 $12.75 USD

44 496270 Turbine 120V 1 $106.94 USD

45 496269 Carbon set 100-120V 1 $36.61 USD

46 496256 Seal kit 1 $16.38 USD

51 200889 Cable harness 1 $17.74 USD

52 200855 Holder 1 $7.83 USD

52 200887 Holder 1 $21.79 USD

53 200854 Dampening ring 1 $7.18 USD

54 200874 Solenoid 1 $61.39 USD

55 200853 Magnetic holder 1 $6.63 USD

56 201004 Spring 1 $14.53 USD

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=allImagesAndPartlist...

3 of 4 12/3/2020, 6:19 PM



60 200528 Spring plate 1 $6.69 USD

61 498828 Valve collar 1 $24.15 USD

64 200591 Holder 1 $4.13 USD

65 200574 Gasket 1 $2.09 USD

66 496221 Contact 1 $18.90 USD

67 200568 Sleeve 1 $6.63 USD

69 496267 Screen CT36 1 $14.29 USD

74 200824 Support Support 2 $4.06 USD

75 452840 Roller 2 $13.30 USD

76 498634 Container CT 48 1 $126.00 USD

77 200823 Pipe 1 $15.29 USD

79 202484 Tooth ring 2 $1.36 USD

80 200570 Wheel cover 2 $5.03 USD

82 --- See catalogue 1

83 --- See catalogue 1

84 500253 Handle 1 $59.40 USD

85 200873 Locking latch 4 $6.36 USD

86 --- See catalogue 1

87 500318 Grip 1 $10.76 USD

88 452449 Raised-head screw 5,0 x 40 mm 6 $0.91 USD

89 35000546 Bracket 1 $37.98 USD

90 500320 Housing 1 $89.12 USD

91 500319 Housing insert 1 $27.77 USD

92 201023 Cable clamp 1 $2.51 USD

93 500321 Container 1 $20.82 USD

94 35000553 Container 1 $55.95 USD

95 500314 Bracket 1 $12.13 USD

96 500328 Container 1 $153.41 USD

97 500316 Wheel 1 $28.98 USD

98 500317 Pedal 1 $19.61 USD

99 700346 Warning plate 1 $2.46 USD

100 717470 Nameplate 1 $1.36 USD

101 200534 Locking latch 2 $4.74 USD

103 497819 Closure SYS TL KPL- SG2-T01-002 1 $10.33 USD

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=allImagesAndPartlist...

4 of 4 12/3/2020, 6:19 PM


